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101 @12 dl 11,492 11,013 479
04 JIZtH22HEES 11,492 11,013 479
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201 Et2Ad| 4,500 4,500 0
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DEstMatel A2F 28 1,000,000 14! 1,000
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>SS BALS (A L UL
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307 QI2H0I & 7,000 7,000 0
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401 Al &2 HIL 20| 10,000 10,000 0
01 Al bl 10,000 10,000 0
O 232+ 10,000,0002! *14! 10,000
smIIRe M 2,700 2,700 0
307 212H0| & 2,700 2,700 0
02 QIHAMEE 2,700 2,700 0
OBMII2H W& (2HAY) 2,700,008 *14] 2,700
2INE 28 2R 331,872 120,864 211,008
= 201,000
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Al 66,372
401 A2 HIL 2O 331,872 120,864 211,008
= 201,000
= 64,500
Al 66,372
01 Al &bl 330,000 120,000 210,000
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= 6,500
Al 16,500
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= 7,500
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Al 49,000
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Al 6,750
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= 140,000
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Al 563,785
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>DEsaY 45,6003 201 %44 4,013
DA 1,000,000& 2021 32 7| 6,000
PAIRSFIOY 45,6003 x201 %9 821
>ZAH ¥ DESEZXHl 100,000& *x22!1x10& 2,000
DAHEE = 3,587,000 14 3,587
201 8- H| 38,500 36,700 1,800
01 At22t2ldl 13,600 13,600 0
O1 gtx=2Y| 13,600
DEAALE 22|S HSFHL
100,000& *3M A~ x12& 3,600
DEERA OHHEES &
10,000, 000& * 14 10,000
02 E3=2g4| 24,900 23,100 1,800
O1 s3232% HA 9,900
DEINQS(IED, HOA, BSEAH
250,000& *3H A+ 12 9,000
DESIET HA(FAR, HOYAL, SEA
300, 000& *3IH 2~ 900
O3 A& & HIs XYl 15,000
DEHIAE FRNES 5,000,000 *374 &~ 15,000
202 44| 2,400 2,400 0
01 2LHOAHI 2,400 2,400 0
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307 2I2t0| & 30,500 29,000 1,500
02 It B AB =X 30,500 29,000 1,500
OHMdYl X3 3,500,000 *3 7 &~ 10,500
Olgs NHE /st nsUd 29
20,000,000 * 14 20,000
SFERN HSR5 &9 5,900 5,900 0
201 B2 H| 5,900 5,900 0
01 AtR22t2ldl 5,900 5,900 0
03 2894 5,900
DEERKEESAAG =&
100, 000& *501 x4 3] 2,000
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LTI ALY 420,000 0 420,000
401 A& Bl 2 CHHI 420,000 0 420,000
01 Al &l 420,000 0 420,000
OXHEH =HIHUISA 420,000,000& * 14! 420,000
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NSEN Z2t 163,880 0 163,880
201 et A | 128,000 0 128,000
01 At 2teltl 128,000 0 128,000
O1 get=Z| 128,000
DAIS S ME2H(4H) 88,000,000& =14 88,000
DEERFT SEMI L2t 40,000,000 14 40,000
202 ¢4 4l 2,880 0 2,880
01 = LHA bl 2,880 0 2,880
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101 21 24| 64,522 54,031 10,491
04 J|12HH22NSES 64,522 54,031 10,491
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>ol2a 37,4003 121 %175 6,545
PAHIIRSFIIE 37,4003 »121+8 300
DEsd 37,400 x1Q1+352 1,309
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300,000& »121+8& 2,400
>ao=s 37,400 x232! %33 2,581
DAHEEZ 1,445,620 * 14! 1,446
OME(E8)EX FY 3,741
>olZ2= 37,4003 201 x44 A 3,292
DEFEd 37,4003 x221 x6== 449
OxgsH EX FY 9,121
>ol2g 45,6003 #4021 %44 8,026
D=FE 45,6001 #4021« 1,095
OFHHERA 2IRY 29,640
>olZ2= 45,6003 x1021«57L 25,992
DEEY 45,6003 x 1021 x8=F 3,648
Od==J| 02t 28X =S4l
7,000 1021 +44 3,080
OJIZtHl 22X 285 +Y 1,600
> A= 80,000& »16¢2! 1,280
£ 20,0003 x16¢! 320
OMMEEZ 64,944,000 *4.248/100 2,759
201 L2 Y| 140,946 141,374 A428
01 AR 2 2ldl 18,572 20,000 A 1,428
O1 git=Z | 16,300
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150& +10,000% 1,500
DARE 2 400,000& 128 4,800
D =X =X M 62,5003 *80& 5,000
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O5 2l 672
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DABBRI MIIQD 3,500,008 *122 42,000
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DASBE X508 2SS
1,500,000 * 122 18,000
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202 018 6,000 6,000 0
01 =401 b 6,000 6,000 0
OANBREX 2ol A2EF Ol
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206 T 2l 4,200 3,900 300
01 T2 bl 4,200 3,900 300
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1,500,000 %14} 1,500
OXHE OFM3 3,0002 +700% 2,100
ogsiza 6,0002! ¥ 100 600
305 &2 S 1,000 1,000 0
01 Ha3S 1,000 1,000 0
OASBEX FXEB2 A
5000002 *221 1,000
307 Q12H0| A 64,305 61,433 2,872
05 I 29It 2 64,305 61,433 2,872
OAEBEX Q4HR S22
50,0002 *27H A *122 13,200
OB B fA2Y 51,105,000 %14} 51,105
401 Al E 6L 20| 75,000 28,000 47,000
01 Al Hl 75,000 28,000 47,000
OANSRBX H3E DAHBA
20,000, 0002 *14! 20,000
OAUSBBI 442 SLBM
40,000,0002! *14! 40,000
OASBBI BUTAMGSAZL U 42 3
A 15,000,000 *14] 15,000
(R)otsRe SUX 22 3,600 3,600 0
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201 LBr2g | 3,600 3,600 0
02 3324l 3,600 3,600 0
o1 3322 % HA 3,600
DASA L IEHA SFFA WIS
150, 000& 20 A~ 12 3,600
AAZ ALY 80,000 80,000 0
& 40,000
= 12,000
Al 28,000
401 AlEHIZ 2 OHYI 80,000 80,000 0
& 40,000
= 12,000
Al 28,000
01 Al&Hl 80,000 80,000 0
Odtazl &AM 80,000, 000& *14] 80,000
& 40,000
= 12,000
Al 28,000
gEtdRY g} = 100,000 0 100,000
401 Al HIZ 2 OHYI 100,000 0 100,000
01 Al &bl 100,000 0 100,000
45 2% EAY =AMY TAT2 HE
== 100,000, 0003 * 14 100,000
=] 296,356 221,750 74,606
= 40,766
[ 3,494
7 Al 252,006
22 DHAE 170,500 177,250 A6,750
201 L EH2FH| 108,000 54,750 53,250
01 AR 2teld| 105,000 51,750 53,250
O1 Let=ZH| 105,000
P2AEAEEE HH 105,000
ozzd 2:X 1,000& x40, 0005 40,000
o=ZXNT M 500& x70,000% 35,000
oz ¥&sE SFMH 2002 50,0005 10,000
OAZEEE ATY HA
2,000& x5,000% 10,000
oHiorg #Z==2= N
1,000& *10, 0005 10,000
02 E==2gHl 3,000 3,000 0
o1 2222 ¥ 3,000
DaEEE= 5,000& 503 x12& 3,000
301 BB Z 10,000 10,000 0
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307 ©I2H0IF 30,000 0 30,000
02 BIHH AP E 30,000 0 30,000
ORAFVZFHIMTZ2A  30,000,0002 14! 30,000
308 XHXIEHHI S 0| 22,500 22,500 0
05 XX SIS 2 22,500 22,500 0
OZZ UEAD I3IYEs BSAL
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S3BY SoHA 2Y 18,000 14,400 3,600
307 QI2H0I & 18,000 14,400 3,600
02 DI A E 18,000 14,400 3,600
O=d2s2Z S0HA SN
18,000,002 14} 18,000
SHUYGHEA EEXNE 25,619 13, 100 12,519
201 Lt Y| 300 0 300
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DATHAA WE MASY 10,0008 3] 300
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10 BAAHI 242 24,519 1,600 12,919
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= 3,494
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NREEEERETE 58,237 0 58,237
OHAANBS 2 HBHISH X
58,237, 0002 *14! 58,237
2 40,766
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307 S12H0| & 90,000 271,000 A 181,000
02 QB AE X 40,000 36,600 3,400
OLJUIZSHAAAS K& 40,000
DARALINRA2 AIRZ el & 23|
40,000,000 14! 40,000
04 SIZHHALE = 50,000 234,400 A 184,400
OZJALZN 23S AL
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Ne=H X & 47,000 37,000 10,000
307 S12H0| & 47,000 37,000 10,000
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oty =X K& 7,000,000 *14] 7,000
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o2y 113,283 112,281 1,002
T 55,739 49,217 6,522
101 2121t 55,739 49,217 6,522
RS 55,739 49,217 6,522
SNEEEES- 8,078 %2301 %300 A1 2t 55,739
Jl= 2| 57,544 63,064 75,520
201 YEr2 Y| 34,584 31,844 2,740
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O1 L8| 22,000
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202 01t 17,760 16,320 1,440
01 2UHOTH| 17,760 16,320 1,440
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203 YR = Y| 4,200 4,200 0
04 2N2YHREEY| 4,200 4,200 0
ORASYAR=Y) 350, 00024 * 122 4,200
405 X443 S| 1,000 10,700 £9,700
01 AU SEH S| 1,000 10,700 29,700
O3tmat 500, 00024 +1CH 500
OO0l =3I 4 500, 00024+ 17H 500




